
9B06  I  BASORFIX  

BA
SO

RF
IX 

4182CV
Qreac Pap GC i304 i316

kg N·m REF. kg/ud REF. kg/ud REF. kg/ud
4182CV  500   20 2/6477 0,51 2/18090 0.50 2/18109 0.50

M8 & M10
42

42

12

46

38

3

M10X20

Qreac

4182TE
GC i304 i316

REF. kg/ud REF. kg/ud REF. kg/ud
4182TE 2/6474 0,51 2/18089 0,50 2/18108 0,50

4 x DIN933 M10X30 (2/17547-i304 / 2/17600-i316) + 4 x TM41 M10 (2/17584-GC / 

2/18525-I304 / 2/17612-I316)

4/50 x B3 (2/8827-GC / 2/12096-I304 / 2/15575-I316)
51

20

43

50
22

4419,5

25X11

12

127 19
,518,5

4

14
1

41
48

46
25X11

Eje y

Eje Z

41/82

4182A
GC i304 i316

REF. kg/ud REF. kg/ud REF. kg/ud
4182A 2/6311 0,23 2/18091 0,22 2/18110 0,22

4 x DIN933 M10X30 (2/17547-i304 / 2/17600-i316)) + 4 x TM41 M10 (2/17584-GC)

4/50 x B3 (2/8827-GC / 2/12096-I304 / 2/15575-I316)

190

5020
12

20
4

41

4182B
GC i304 i316

REF. kg/ud REF. kg/ud REF. kg/ud
4182B 2/6312 0,23 2/18092 0.22 2/18111 0.22

4 x DIN933 M10X30 (2/17547-i304 / 2/17600-i316) + 4 x TM41 M10 (2/17584-GC / 

2/18525-I304 / 2/17612-I316)

4/50 x B3 (2/8827-GC / 2/12096-I304 / 2/15575-I316)

134

42

42

46 21

12

88

4

 Qreac

A

Eje z

BASORFIX




